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Directions for the following § {efght) iloma r
Read the follouing seven possagen and ansioer the
ifetns that fllow each possoge. Your angwers fo
thewe éisma whondd by baved on the pesmages ondy.

Passage- 1

Palitienl theorists no doubt have to take
hintory of imjuatics, for exnmple, untouchability,
giriously. The concept of historienl injustico takes
note of & variety of historical wrongn thekt
pontirme into the presenl in somw ferme or the
other mned tend to resist repair Two roasons
might pecount for resintunce to repair. One, not
only are the roots of injustice buried doep in
history, njuetics itsslf corstitutes econoimbe
strustures of  exploitation, ideolnges  of
Aiserimination amd modon of repreaentation, Two,
the category of historioal injusties generally
wxlonds scrosh m number of wrongs  such as
pentwmie deprivation, social discrimination and
lack of recognition, This category | complas, not
aily hecaus of the overlap botwoen 8 number of
wrongs, bul brcause one or the other wrong,
genorully @iserimination; tends te acguire partiol
autonomy from othere This is borpe nut by the
Eistory of repair i Indin.

What in the main ides that we can infor from
the pussage T

{(a)  Untpuchability m [ndia hos not besn
taken serioualy hy political theorists.
Historieal injustion i nevitoble in any
society und in always boyoud repair.
Bocinl diserimination and déprivation
haven thatr mootn in bad cobnodies

It fm difficult, if not imposmble, to repair
every monifestation  of historical
mjurtios

1.

(b}

(el

1di

BRL-S-HJU

2  Op the bugis of the above pazsage, the
fyllowing assumptinns have boun T T

1.  Removal of economic discrimination
leads Lo rernova) of social disrriminnton.

2 Demperutic polity in the best way lo
repair histarion] wrowgs.

Which of the:ahove sssumptions is'are valid T

1 omly

2 anly

Both 1 and 2

Neither | por 2

(ml
il
el
(e

Passage - 2

Education playe o grost Lransformatory role
in M, particulurly wo in this rapidly changing
ond globoliging world. Universizies are the
custotions  of the intelloctuul eapital  and
premoters of eulture and specialized knowledie.
Culture % an  schvity of thought, aend
recoptivenma Lo bonuty snd human feelingn. A
smerely well informed man ie only 0 bore oo God's
gurth, What we should aim ot 5 producing men
‘whi poesuss both culture and expert knowledge.
Their expert knowledge will give them a firm
grount to start from and their culture will lead
them us deop as philosophy and ss high us art
Togethor it will impurt meaniog to  human
pristone.

8. On the basin of the wbove pussage, the

E:!Inw’mg;mmptinm limve been mado
1. A soclety without well educated people
cannot bo tranefurmed into a modern

wininty.

Without sogquiving culture, a porson's
edoention la nol coniplote.

Which af the sbove ansam ptiond infare valid ¥
i) lonaly

ihi  Zenly

fe) Both1and

(4] Neither 1 por2

2
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Pussae -3 Passnge —4

Goil. in which nearly all vur food grows, Inoquulkity i vinible, uven wiatistically
s a living rrépurce thol inken yeart to form, mussurable in many inslances, trot the ecanommic
Yol It can vamsh in minnws. Kach year power thst drives it i invisible and not

76 billion tonnes of firtile soil i Jost 1o mensurible. Like the forow of gravily, power i
erpaion. That is alarning — and oot just for the orgomising principle of inequality, be it of

finsd prodnsers. Soil can trap hoge quantities incore, oF wealth, gendor, mee, religion and

uf corbon dicxide In the Form of ongaoic rogitn. Lbs ffectn are soen i 8 parvasive mannes

earbon and prevent it from edeaping into the in.ﬂ.;‘;humhuithm-mw’hhhmnm!::
alinssphecs power pulls npd tilts visible sconomic varisblos
remain invisibly ohsurc.

4. ﬂn&ushsiunfﬂﬂn‘uwspamgf,{hp

fallawing mpum&hnmbﬁnmnﬂp:
Admi 8. l}uthu'nuui'untthnnbmmpuﬂﬁe-.ihﬁ

i, Lumpe acale aoil eroson is = majer & Towing assemptions hive besn made ;

it for widespeead feod insecurity i 1. Heopomic power i the only ronson for
thr weelil the existense of insguality in i aocioty.

wealth, e2c. reinforees power.

4 Spstanable ment of sails bl
S R 3 TFeosemie pewer can be snalysed more

mmghih&cummhydum
pmpiricsl methodd.

wn comhazing elimate change.

Which of the above assum phions IRae valid 7
Which of the shove snsumptions iwure valid 7

ind 1 and 3 maly

in) 1 ool Zonly
ek (b} Jonky
fe) 2 and3only (e} 1and3only
W L, Zond 3 idi 1, 2rmdd
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Pamsage - §

Climnte chunge may sciually benefis s
plants by lengthening growing sessona and
mereusing carbon disside. Yot olher effects of a
warmar world, such a8 more pesta, droughts, and
Noading, will be less benign. How will the world
minpt 7 Hesearchers project that by 2080,
sultable croplands for four commodities — mumies,
potatocs, mice mnd wheat — will shift, in some
rase= pushing frmers o plunt new crops. Some
farmlanda may benefil from warming, but others
wont Climsate alons does not dictate yiolda:
political shifts, giobal demand, and ngricultural
practices will infloence how farms fare m the
future.

B,  Which ono of the fallowing ks the most logical
ond ratioaal inference that can be made
from the above pasnags ¥

{n) Farmers whoe modernize their methods
and divemsify their fields will be in an
advantiageons ponition 1o faturm.

(b} Climate change will adversely affect the
crop divemnity.

(e Shifting mujor croyie W new croplands
will tead t0 & groot increase in tho totad
area  under cultlvation and thus an
merease in oveérall | agnieultues]
production.

) Climate change in the mast important
fairtor affecting the agricultura] sconomy
i Lthe faturs,

Pussiige - 8

A bat'n wings muy Jook like ahests of skin
But underneath, o bat hos the samie five Sngers
as an omangutan or & human, ns well as n wrist
connected (o the sume cluster of wrist bones
commpcted o the same long booes of e srm.

What ean be imore rurious than that the hand of

n man, formed for grasping, thel of a mole for
digging, the leg of the horss, the paddle of the
porpoiss, and the wing of the bul, should all be

urmuﬂdunﬂrumnﬂun?

Which omw of the following s the mosf
logical, acientific and rotional Iaference
that, enn be made from the nbovo passage 7

{n). IHfferent dpecies having =imilar
structure of hands w an exemple of
blodiversity.

{hi  Limba boing used by difforent apecies for
i frrent kinds of work (8 an example cf
hind -

(g} Mun and the afbrementioned amimals

having similar structure of Hmbs is an
example of coincidence in evoluthon.

idi Map and the aforemsntoned animalp
huve & shared evolutionary history,

{T-A)
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Passage - T

Around 66 million yesra pgo, the Atlantic
Crenan hind nod fully opened and animals, pecheps
including our primate ansestors, could walk from
Agin ™ WNorth Ameriea through FEurope mnd
scrpss Oreonland, Earth wos wormer then it s
woday, but s the Palaepesno gpoch guve way to
Fooenn, it wan about to geb much wermer still —
rapidly and radically. The couse wae & masave
gookogically wudden relesse of carbon |, Drurmg thin
period  callod Palasocene — Hocene  Thermal
Mauximuom or PETM, the carbon imjected inte the
atmosphurd was roughly the amount that weuld
be injected today if homans burned all the
Enrth's reserves of conl, oil and natwmal gas. Tha
PETM lasted for about 150,000 yenrs, until the
exessn carbon wns reabsarned, It hrought on
drought., floods, insect plagues and o fow
extinctions, Life on Farth surviverd — indeed, it
proapered — bt it wae deastieally differval

.  DBoscd on the nbove purasage, the foliowing

pesumptions hove been roomde

1. Global warming has a bearing on the
plunet’s biologtcal evoletinn

'3 Sepiration of land moasses cooses e
release of huge quantities of curbon inte
the atmesphere.

A Iocroased  warming of  Earth'e
atmosphere can change the composition
of s flors and fauna

4. The present man-made globoel warming
will finally lead to conditioms similir to
those which happened 56 millivh years
ngn.

Which of the sssumptions given above are

valid 7

(m land2

(b 8 nnd4

e} Tendd

id} Zpnds

BKL-5-HJU
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The number of timeas the digit § will sppear
winile writing the tntepers from 1w 1000 i

imi DGR
(hi 271
ey Q00
) o

A sl cube is painted yellow, blue and blick
such that opposite faces are of sume eolour.
The cube is then cut into 36 cubes of fwo
diffierent wizen such that 31 cubes orv small
and the other fowr cubes are hig. None of the
fuces af the bigger cubes s painted blue, How
many enbes have anly one fuce paloted ?

fa), 4
[{
© B
dl 10

A and B oure two heavy steel blocks, If B s
placid on the top of A, the weight increases by
. How much walght will reduce with
rospect to the total weight of A wnd B, Il B is
remmoved from the wp of A

fay B0

(b 455%
ey A0%

AT-5%
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15. ﬁ.whummm.nmw“ﬂm 15, h-:hﬂ-wm.nﬂmthmwnmﬂm
first child falls on the 5 Monday of Apeil, Hnﬁﬁﬁutinnnnmh#.hmdﬂhl!mh&ﬂ
that of (he second ose fallv on  the Flnrﬂifﬂﬂ;ﬂriflhﬂﬂmhﬁmﬂ;nﬂhﬂ
& Thursday of November, On which day is 1 4, whereas a wtuden® & ©
e bicthlay of his thind child, which falls on cricketer if and only if the ldentification
a0 Pecombear ? grmber is divisibie by 8. [Fevery aumber from
o 1h1ﬂ“illuwh:ﬂuﬂ_mt.mmhm
(a} Monday mmdmﬂwcﬁhlmiﬂnwi
Baturdn
@ ' by B
(di  Hupday
gy 10
i (dy 12
13, Consiger the following Statements  and
Conclusions -
Statesments - {8 m.mmmum&numwl,
1. Some rok are cpls, ' uhlummﬁ:nmdﬂm-h:.m-nm_pudunlr
. m#murm.ﬂwmhﬂm'uthu
2 Seme eatx ave doga runmrrmmpdtnmninthhenmt?
4. I =
Mo dogf is nogw & 1
Copeduntons :
by 16
L Nt cow tgwcnl
11, HNodoginarl ) 8
{1i Somo oets tre rats. d} 165
Which of the ghove conclusions fafare drown
from the statements
{nd 1,10 smd IEL 17. H.ljuh.ufmmthhimmﬁhumuh
bllrnuiuhiluhmﬂ_ﬂhhmm&qd.-ﬁu;hum
thi  Oulyland 1l only 75% of the ameunt required to bay the
¢} Cmiy I ' hlrﬂlnLThmﬁiﬂ.hn'huﬂuﬁ!mml
(d) Oy [ and 10 friend. Thea
{m} Eljulﬁﬁduﬂnﬂh:ﬂmuu;hmﬂ
to buy the handwel.
% mwurwﬂhwﬂmm_h ) Hum&!un:ﬂyihuum.mntu
hﬂuﬂwﬂn!mnﬂnfmﬂrumwnﬂﬂlm .
= (el has epough amount to buy tho
o g hnndset and he will have & 500 with
him after buying phe hndset.
My 24
(d) Rajn hus enough smount to buy the
© 32 handet und ho will have T 1000 with
(@) - 38 : hirn after buying the handset.
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P w1 wm &
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18, In 2002, Meetu's g Was one-third of the gy

of Menrn, whereas ta 20170, Meenc's age Wea
hulf the age of Moot What is Movnu's yonr of
hirth 7

[mh  YER2
by 1894
(c] 1898
td) 1098

18, Rakesh uud Fajesh togetlier bougEht 10 Ealls
and 1l rackets, Bokesh spent 7 1500 and
Rajerh ppent T 1500. I each redit costs
cheoe times o ball does, Uhen whal is the pree
of arvackat T
ia} TTO
My + 80
i Taah
W T 240
g0, In o conierence, 0ut of & total 100 participania,
1 nre fidians 17 60 of the wial partloipanty
arm vegolarian, then i of the following
wtatements i correet 7
1. At lenst 30 Indian partivipants ars
vegetarinn.

2 At Tesat 10 [odin partlejpants  are
non-vegilarian,

Golpet the correct AARWET USIHE the oodos

given below

(n) laonly

by 2omly

¢} TDothlund2

(d) Meither 1 nor 2

.

ﬂiruunm.ﬁrmrﬁﬂmatlflhﬂﬂmz
Rmdlhfuihwmgd:wqdmwwﬂu
ctorms tht follow eoch peissage. Your onmuers fis

21.

thase itams whould he based an the passages only.

Passage = 1

Low-end 10T Daternet of Things) duvives are
rhous commndity jlemia @ addeessing security
would add o the cust This duss of itema is
proliferating with now upplications; WAETY homs
appliances, thermonints, wgnrity and monitonng
deviees and porsunal convenienre devices ars
purt of the loT. 5o are fitnoss trachors, ¢erisin
medical implmits ind computar-like devices in
autamobiles. The LT e mxpected 1o expand
eponentinlly — put pow seonpity challenges foe
danphlng

Wmnhmithefuﬂuwﬂndmmuhthn
muost logical and rational inference that
e be madrﬁnmﬂ'itahnmw?

o) nmelnpmmrnrmhlimud:mh:iﬂin
Indls ean be & big booat o A
manfcturing sector.

b} hdtlﬁmtwtﬁﬂlyml#mnﬂmpﬂﬂ

o view of the mminest mocurity

challengs=.

tel Uﬁ:hmmmmﬂmmﬁ:ﬁhﬂlﬁﬂhthl
development  of cheap low-end < ToT
dirviees.

Ar we go digital, we mmist recoguise the
huge ireat to Inturnet sectirity from
smi: JoT divices.

td}

{13=-A]



R & 1w s i e = Fadg
mﬁhmmwﬁﬁmgﬁm
o 8 +3amw#%q,éﬂﬂfh}1ﬁﬁmm
ﬁﬂmﬁiﬁﬁﬁmiﬂmwﬁ-
o o R T WA, ooy, A,
e, B e, RUE I R
kil 1 e — Wit ® sdfig

20, FrafhfEa 8§ @ s U,

w s w5 fieet sufmer 2 0

la)  Ewfiem m#ﬁﬁtﬂfﬁqﬁh
mﬁﬁawmmmm
T T R

th _ﬁmmhmnam&fﬂunﬁﬁaﬁ

R vy W v % B wmes

TR e |

e WWA W wmudi FP 7 wd e &

ﬂwmﬁmﬁmrmﬁnmwmu
(d) mﬁﬁﬂhﬁ?‘ﬁﬁﬁ%ﬁﬁﬂ
ﬂlﬂﬂﬁmﬁawiﬁil
23, ﬁmﬁﬁnﬁﬁﬁmw,mfmu&ﬁz%
mﬁtmmﬂﬁmﬁmﬁmh
ta ﬁhﬁfﬁﬁﬁiﬂ%mfﬁuhl
R TR A
) wmﬂﬁﬂmmﬁ
2
&) o2 swy 7= R A
T 4 e

() ﬂaﬁﬂmﬂﬁ-ﬂkmﬁﬂﬂmﬁa
a1 Fsfinam B |

BKL-5-HJU

TiEm TRy w

25, I Sitede i won ¢ fe

R LB T B S e—

2 mm'aﬂmanmﬁmaﬂﬁmm
WA WA B )

zﬁsﬁ%ﬁﬁmﬁﬁmﬂﬂﬂﬂﬂ?

(a)  SEam g

T =

(O B = |

() T# ) sMadp
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Peaeuage = 2

With the digital phinomenon restructuring
most socinl sectors, it s lttle surprise that
global trade nepotistions are pow eyving the
digital  sres in oo atlompt te pre-enptively
colonise (1. Big Dats is freely collectod or mined
from diveloping  eountries, snd converted into
digital intelligonee in dovelopsd countries. This
intelligenee Begine to control different sectors
snd extrnct monopoly renis. A [amge foreign
compuny providing eab service, for mstance,
nit o notwork of enrs and drivers; it is digital
intelligeney about commuting: poblic transport,
ronds, truffic, city events, personal behavioural
chareeteristics of commuiors ood | drivers
and 0 v

g4 Which one of the followiog ls the most logical

and rationnl ewrollary o the abave

passsge 7

fa) Olobalizntion i oot o the labensts of
Indim =& b undermines  its
mrcio-seon mmic ptructures.

(b) Indin should be caroful to peotect its|

dightiil soverelguty in global trade talks.
{¢v Todia should eharge monupoly Ten®a
from  multinational companivs In
+  wxthange for Big Dhits.
(d) The toss of Big Duta from India i
proportisnal to tho degreafvalne of ite

foxwign frade.

Which of the follewing is most defimitively.

implind by the abave passage 7

(a) Big Data = the key resource in the
digital spnoo. ,

b} Big neonomics creste Big ata,

{e)  Accoss to Big Datn is the prerogative of
developed countries.

()} Acowss to and possesslon of Big Duata ma

charactecintic of developed commtries,

Passagn - 8

The rural poor arross the world, neluding
Indin, hive pontributed litlls Lo human-mdoced
climate chings, yel they are an the frintiioe in
coplig with its effects. Farmers con no lenger
rely on historical sverages for rainfall and
emperstury, and the more frequont mnd exirens
westher ovenia, nuch as droughts and Noods, can
spell disngter. And there ure new threats, such
soa byvel rise and the impact of melting glaclers
st water supply. How dignificant are small
fcns 7 As many @ two billion poople worldwide
depend on them for their food and  Tiwnhihood.
Small-holder farmers in Indin produce 41 percent
of the country's fioced grodns, and sther food items
that contribute % lven] and notional  food

H‘ITI.H'H._‘.','.

24, What is the most loglcal and rotional

eorallary to the abuve pussage ?

(n) Supporting small (armiss is
an important part of any agenda
rogarding environmontatly gustainable
developtisent.

Prar countries have little role to play in
the mitigation of global warmming.

(¢} Dow to a number -of {urmer
households, Indin will oot hove food
sacurity problem n the foresceable
fature.

Only small-holder furmers in Indim ean
ansure fond pecurity.

i)

The ulove passage imphies that

1.  There i a ptential problem of food
inaceurity in India.

9 Jndis will have to strodgthen its disaater
manngemenl copabilities.

Whith of the ahovn asFmptions ishure valid ¥

in)  lonly

bt 2 only

g} Doth 1 and 2
i Noithar | nor 2

(15-A)
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afes - 4

R Fa, o @ Py & i
& (= w fe i g w) st
TR = P % s @ v e Tz
g B |3 ol o wd) o 8 P b
W I W IR Fdf F, T w1 s
Femys < w1 moen w561 [ 5 B T
& fomu 3w ] ) Wi A e s
BFTT, 0 T Tk “wmeg dvn” (20t
RG] — A N w & § Py el
qwig ¥ v B — W U | sem awm,
wogrEn A wew seiie Wan — g,
i, S ol g - # 9 ae aie
FwHr # wwraa A ww |
26, Iuw oy ¥ wmn v G Wi

L WAy wfeds W owme w0 oW feg
e olh e W gt w8 Sar
B S s #

2 ot dhan o wensl @ uwfase §
wowT s wEl ow st Baom aw
L el

8. weam wimds oot s fEwed &
ferr ol i &

FE % # e gEherongdrRed do 34 o
() waE g ol

(bl W 3

fe)  waw 1 a3

id) 1asima

ufedz -5

et 37 A s et w61 e fo
& T W e fevmmll &, B mmee
fimn % wf1 MR 3 aeniesaits faf &
N 9w A o Bl =R 1 hswed
el 8 wasn am % fan we ow awe
Papw s wfed ww f o e
wERE, 2008 gm Bw oy B s shoadl 3
ﬁmﬁﬁmmﬁmﬂﬂm%maﬁw
Wmﬁﬁ!ﬁﬁh-nﬁmﬁﬁtﬂ-ﬁu
=g R | TRl S vl W B, feee
T Y e A e R, el e
F woTrT & # % gt #@ e w2
e, wr sifedfie fe =3 & ot W an
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27, dw ofess & wmd i Feafafan gt
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B
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ferem s w01 6 o B
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Passays -4

A chunging clunsts, L B everiual
fforts of governmenti Mowever raluctant)
to deal with i1, could have » big impast on
investors  TelurRa Copmpanies st

ur usn Jere amounts of fonmil
fnils will fuce higihor e and reguiatory
hurdeis, Some wnergy pronducers may Tnd
it impussible o sxplojt theie Enow:
reserups, and b lefl with “strandeid
psuls” — duponits of oil and ol that
have ko be lelt in the ground. Other
industries  eould b affecped by e
preamommie darnnge ol by more EXUreme
weather — SLOTME, floods, kest wnies Wit
droughts

(i the basis of W
iuﬂnﬂlunmﬂnpumlhmbemimﬂ.&a-:

1 Goveraments and cumpanivs need ta ba
adiquately prepaned 10 garm the clinste

change-

9. Exireme wedther wvents Will fduce Whke
scpnomic growin of wmgmﬂ:mntn aml

corupanies 0 fulure.

% lgnoming elimate change

for investon

Which of (e above assumplions jefure valid 7

{a) 1 ondZonly
(by  Bunly

e} 1 and3only
@y 1,2amd 3

BHL-5-HJU

the shove passase, ihe

in 0 huge Tisk

|

-actors had eseped

pppurtunity a8 ils primary

27.

Passage ~ 5

Accvas o wehoaling for those coming of
schoo! age s cloe to universal, hut ‘sccens 10
yuality exhibits B
gocip-mmonnmic  statu,
spctlons. 1D pravate
intpnducsd by the Right of Children to Frae nnd
Compnlisory Education Act, 2009, The guotas
nove imposod a debate on ipspes of social
integration and guity in edumation
by and Lowe The dea of
pystem with pquality of
gon! appesrs b0 be
sutalde the ppave that private schoal prinopals
inhobit. Thereforg, the ienpoiition of the quotad
hes Jesd to cagintADEG, apretimes justified-

egealitnrinn gdireation

With refurence 0 the above prsargn, the
following muﬂ[ﬁullﬁhﬁwhwnmdﬂ:

1. mpun;ﬂqunhu ul apportunity A roallfy
 the E'Lm;lnmd.-mnl goul of the Indian

aduraTin SFAET-

9, The present India school sysiam IS
orable o provide aglitarian education.

5 Aboiithon  of private  schools and

ertabylishumel gorvsrnment
schools s the oaly Way to ensure
.mﬂlmﬂmmuﬁm

pf o

Which of tha abov® ST ANTIA jafare valid

(x) 1 and 2enly

by Lomly
)  2andd anly

idi B only

(17 =AY
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BKL-S-HJU (18-4)

1.

Hﬁ%mﬁ.ﬁﬂ:ﬂth,

wﬂfﬁ:#ﬁaﬁﬂm%ﬁfmﬂwtﬂhﬁ

uﬁ;ﬁ#ﬁﬂﬁﬂrwmhmmh

|

ﬁﬂﬁlﬁwhﬁmﬁmﬁﬁq;

1. h%ﬂqnﬁﬁlﬁnfﬂﬂﬁr"mh

2 %ﬂundh#ﬂuwmﬂﬁrﬁqirﬂ#
o @

3, wnﬁmaﬂniiimna’fﬁmﬁi
fn o

nqﬁﬁmﬁihﬁﬂiméﬁm

& o ol & 8

(a) T w67 g yufa &

(b} TS T g o &

(e m:mqﬂt.ﬁtjmtk
m-mmzwqut

i) ms'ﬂh?ﬂ#.ﬁﬁmﬁi
mmwawinrm#

P,qa‘nna’ﬂ*m#w#ﬁqis#wﬁ{&

mmt,mfkpaﬂmi:#-ﬁ B b
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Pussnge - 8

A majority of the TB infocted | Indin ere
poor pod lark sufflcent wutrition, euitsble
and heve lide undestanding of
prevontion, TH then devastates families, makes
the poor poneer, particulsrdy sffects women and
chiklren, and leads ta estrociestion ond loss of
employmant. The truth in thet even i TH does
st kill them, husger and poverty will. Anothes
troth 45 that deep-sested estigma. stk of
counselling, exzpensive brestment and lack of
sdequate suppert from providers and family,
coupled with torturous skle-uffects demotivaie
patients to eontinoe reatment — with disastrous

e

hnalth eonseyuunoes.,

28. Which one of the following is the most
logical, rufional ond erucial message
omveyed by the above passages ?

fok

(b}

(e

id)

BEL-S-HJU

TR i oot o curable disesss it [ndias

CETTU T

Curing TB requires moro then disgnosis

il ppeslical treabmend

Governmamit's survelllance meehanism
defichimt: and poor people Tiive o scoess

ko treatmeni.

India will be free from diseases like TH

mly when jla peoverly allevistion

auccassfully implomented,

{ 18—

£9.

3L

Al

A fivestureyed building with fipors from 110V
i puitited using four different colonrs wnd
ouly one colour is ussd to paint a floor.

Commdar the following statements

1. The middle throe floors uee painted in
differunt eclours

2,  The second (1) and the fourth (IV} loors
are painted in differsnt colours.

A, The first (1) anid the Gfth (V) floors are
pointed red.

To pnsurs thut any two conseautive floors have
different eolours

(a)  Only statement 2 is sufficient
fhi Oy statoment 3 in muficiont

{e) Statement 1 i= not sufficest, bat
ptatement 1 along with statement 2 i
sufficient

idd  Btutemwent 3 s ot sufficlent, but
slatement 3 along with statement 3
sufficient

P, Q and R are three towna The distance
between P and Q i 60 ko, whorens the
distance betwien P and | is 80 ko, § is in the
Waat of P and | = in the South of P. What iz

the distance between G and R 7T
(a) 140 km
i 130 ki
(e) 110 km
(i 100 km

AN members of a club went to Mumbai god

staped in  hotel, Op the fint duy, B0VE went

whereus 10% took rest in the hatel Which of

the following conclusion|s) can be drawn from

the above data ™

1. 40% members went for ehopping as well
an sightseeing.

2. 20% members went for only shopping.

Solect the corroct anewer using the code given

blow ;

(a} 1 omly
(b} Zomly
fc} Bothland2

idi Neither 1 nor 2
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2. et it e Paend) & we gefem o
A B |
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A AR A Ul R

(n) et 132

(bl  EE 2 #H 3
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1,23

(el

id)

. A EE W, Fh W W
Fent W H el W A W e 7 ) T
il o v Fea R

i} &

by 4

ey 3

w 2

foft wfimn 0, A 9 B B 20 3w sas aa o
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fml 360

ibi 380

{el 4400
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twnewhesler.  Which

In n school, B0 mudents play oroket. A
stodent who doos not play cruket, plays
footbpll. Every . football player has got =
uf  the [llowing
conclueiuns eannnd be draws from the abave
datn ?

L &80 of the siulesiz do nol have
two-wheelorn.

2 Mo encheter had a pwo-swhosior
4, Creckel ployses do not play fonthall

Belect thé cormect anuwer ammg L codo given

holow :
o) 1 andZoaly
(b} 2 and 3 only
(e} 1 and3only

idi 1. 2nnd3

The ratio of a two-digh netural sumber (o @
siirmber formed by peversing s digils 0 4 7,
The numiber of busly paics s

! 5
W 4
[ - |

i 2

In o exanmivation, A hof soored 20 marks
miore than B IF B hus scomed 5% less mnrks
thar A, how much has B seornd 7

inl MO

() 380

(ed 400

idr 420

A

.

[21=4)

Besta and Goota go for o pwim afier a gap of
wvery 2 days and overy 3 diays reapectively, If
on 1% Japuery both &f them wenl for & swim
togethes, when will they go together pext

(a) TN Janusry

My B Janmary

ter 12% Jarmary

(Al 1™ Fanoary

%, Y and Z are threo contestants in 8 race of
1000 2. Assume that all mun with different
uiform spesds. X gives ¥ o start of 40 m omed
X given £ u stort of 04w 1Y and % were to
pompete in o ries of 1000 w, how many meires
startwill ¥ grve to 27

w2
by 26
fe

iy 48

I x [ greater than or equal to 25 and ¥ i less
than or equal to 40, then which oue of the
following is alwiys correct ?

{n) = s greater than y

(b) (¥ ~x)i# greater thao 16

ted (- x) o Jess than o equal o 16
(di f:-r}hmtw-mummuﬂinﬁﬁ
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Ena was born 4 yonrd after haer pmlnl-l*
marringe. Her mothar Is three yrars yomger
thun her father and 24 years oldes thun Ens,
who s 13 wears old, At whot age did Ena's
father got. marriod 7

(W) 22 years

(b} 23 yourn

fo} 24 weare

@) 28 year

Rakash hisd facmey to buy B sicbile handsts
of @ specific company. But the retailer offered
vory gond discount an that particulir handaet.
Rulorsh could buy 10 mobile handsets with the
prmind be- bad. What was (he discoimt the
metailer affored ?

o) 1%

by 20%

) 20%

d) 0=

Thii wversge murks of 100 students are given
to e 40, It wan foond later that marks of one
student wore A3 which were mismed wr 83

The corrected mean marks nre
i) 39

thy 387

(e} 40

) 403

Hrvetions for the following 7 (erven) oms

Road the following six possages and anser the
itema that follow eoch possme. Your ansuers fo

lhﬂlr'lhm.lnﬁztmﬂbu besed on the possages naly.,

Passags - 1

What ptonds o U way of the
widespread und eareful adoption of ‘Censtio
Modification  (GMY  technology is  an
Intelloctunl Property Rights' regime that
seekn to creste private monopolisa for much
technologies. 1T (M tedhnology is laxgely
corporate driven, it sotls 0 maximise
profits and that o in the shoet run, That
mrporations  meke  major
investments for  herbiclhde-talerant

in  why
mid
pest-rematant erops. Such propecties have
unly u short window, a=s soon esough, pests
wnd woeds will evolve to overcoms moach
resistance. This suits the corporations, The
Nationnl Farmers Commuission pointed ot
that prierity must be given in gcootie
modification to the meorporation of genes
that ean belp impart reaistunos to drought,

salinity nnd othar stressge.

(23-A)
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41. Which one of the fillowing 5 the mosf
fogical, rafional and crucial message
cunveyed by Lhe above pasange 7
ta)  Public research institutions whould takn

the lead i GM tnchnolegy nod priovitiae
tha technology agenda,

i)  Developing countrige should mise this
iamue in WTO and ensure the abolition of
Frtelleetunl Property Rights

(e) Privata corporaticos should oot be
allowid w do sgribusiness o Indin,
particularly the ssed basiness.

{d Present [ndiss cheumstanees do not

favour the cultivation of genetically
modified erops.

42 On the basin of the shove passage, the
following ssnamptions have besn made

L 'The feme of efficts of nuturs) calsmition | 49
on  agniculturo | in mol given due
coneiderntion by  GM  lechnology
COMPUDIeS,

2 In the long roo, GM technology will neot
be able to solve sgpricultural probloms
arising due to global warning

Which of the above sssumpbons iware valid 7

() 1 enly

(b 2 only

ic) Both 1 and 2

id) ‘WNeithor 1 nor 2

BKL-S-HIU (25-A)

Poansage - 2

Most trivanive ipecies are neithor Lrribly
succesefel por very harmful.  Britain's
invasive plonls are oot widespread, not
sprasding especially quickly, and often less
of n nuisznee than vigaroun natives such 5s
brucken. The arrival of now species almost
niwayn incresses biological diversity m o
region; in many coses, @ flood of

neweomers drives po. native specier to

axtinction. One re=ason is that {nvadors

wond tw colonive disturbed habitats fike
pollgted  lakes und  post-industrial
wasteland, where little elao lives. Thay are

notire’s oppurtunists

Which one of the following is the mew! fogical
and rafional inference thut cun be made

from the nhove passage *

lu)  Invasive spocies should be uasd to
relahilitate desert  arean and

waslelands of 8 eountry.

b} Laws sgainst the introduction of fornign

plarnls ary unnecEsMIEy.

(¢} Sometimes, the ecampaigns naguine

foreign planis arm poicties.

(d) Foreign plants should be wed to

imcrpdss the bipdiversity of o country,



i .

il o= i i (zftw) § @
Al WA e we i e  agha A an
* W widt B | sy d i e s
ST AT WA, W] s W
3 TETwE e e F B ouE S
w0 Wt & s wiim | e s
e o wrTz W v b | S
fommaz & am 9 sin @ witewten #1 S
w1 % @l oot f Few B
HEwAl & | WSS T & e e
T oywgw sl sivem owhe # s
Frisiil & srs ofimm < srawwm # |
vt firan w g B weli seeem W e

T - 4

wit R 6 A 8 ofmis wo
s ot Ends Sl & Bl s S
R | Eit TR wE A wwie, st
o i it & fe 7 73 O A
wit N ® f, R e gm el B
fierm aitsn — 3 f fm wam i T g
R, 5t =i & e s sl sevess A
g wm wA g, sl sme w s, s,
wHwEn o wwE W, @ el oam owm
wifes wm #a 4, sfre =9 % mive 7wl
o, = et fe & g R

um e A e % o g w faen
w i | fie B, ol aeee W ae a
et & wfew affy w0 Ram e w2

S is. vt T R fE o afese

44, I wheEz & s o Felafee qderan () WA fwioTe & wwieT T Awn

w il * Tt & Raeg v wan o
L e g o afee g R Pk s
WHIGHT %1 ST | (b Tty o wefs (mnd) i
2 Pt ol whmm % fg sante w8 s % ey W s e g |
Wit G WA W s )

8. W W aTw wwes gam W FRife e () T s o i i A mod

tq wat= fai i w0 s TFmi # A ok ew § ok v
ayl & A W ghamongdarod du 24 o iy |
(a) WEA 102
h)  FEH (d) =W ST § 5 & o  wnlh
(e) e 1 A A = un A 7k uom M v @

i) 1,283

BKL-S-HIU (28-A)



Pansage - 3

Dharrhaeal deaths among Indisn children
are mostly duw e food and water eomtamination.
Use of omtaminzted groundwater and unsnie
chomicals (o agricoliure, poor hygiane in stornge
und handling of find itoms 0 fbod covked und
distribitod in pnhyglenic surroundings; thern mro
myriod fsctord  that nesd  regulation  aod
Tanitaring. Pl'mpln need to have wwaremess off
adulteration and ways of eomplaining to the
relevant nuthorities, Surveillance of food-bome
diseases  involves & number of government
wencies and entails o good truining of inspection
staff. Considoring the propertion of the urban
population that depemds on streot food for its
daily msals, imvesting in trainiog aod oducstion
of street vendara {5 of greal significance.

dd. Om the basin of the above passsgs, Uw
followimp nzsumptions have bevn made

1.  Food safoty i a complex isaue thot calls

four a emltipronged soluetion.

2. Gruat iovestmenis need to be mado in
devalnping the  manpewer  for
purveillunes aod Lrodniog,

4. Iodin  needd  to make sufficiont

lngialation for governiog foud processing
industry,
Which of the above asaumptions isfare volid ?
(a) 1 and T only
(h) & emly
fe) 1 and 3 only
idy 1,Zand3

BKL-5-HJU

Pasange - 4 .

The internits of working and poor people
have histerfoully besn neglected in tha
planning of our dtivs. Our otes ore
inerassingly intolerant, ansafe and unlivable
plages for Large numbers of eitizens and yot wie
continue to plin vis the old ways — the stalic
Develapment Plan — thatl draws enclusively
from technleal expertise, distanoed Erom
people's live experiencos mnd needs antl
metivaly -exciuding large number of peaple,
places, mctivitine and practices that are an
integrl part of the city.

48, The passage secms to angue

(4] ogrinst the monoepoly of builders snd the
intarests of elite growps,

(b} mgainst the need for global and snirt
it

(e} In fuvour of planning cities mainly for
working ¢lasa nnd poor poople.

id) in favour of particpution af pesploa’
groupn in city planning.

(271-A)
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Passaye -5

A wast majority of Indians ore poor, with
barely 10 pereent emploved in the organised
sector. W are being convinosd that vigorous
soonomie growth B gonorating subscantiul
emiployment But this is net so. When our
eoonomy wos growing ol 3 pergent per year,
employmont. in the orghnissd sgclor waa
growing st 2 percent per yoegr. As  the
pouliomy began to grow st 7 — B percent per
vear, the rie of growth of employment in the
organised  poctor  actually  declined  to
| purcent par yeur,

48, The obove possage s=ems to imply that

1. mest of modermn ecomomic growth s
hassd on lechnologicnl progresa.

2. much of modern Indisn eonomy does

nuerture sufficient  symbiotic

relationihip  with  Inbowr-interkive,

oatural pezource-based livelihooda.

noL

4, servics wector in lndis |8 not very
Inbwrur-indensive

4. literate rurs! population is not willing te
enler pyganisod sector.

Which of the atatemenis given above are

cinjrect T

iad 1 and 2ooly

bt 3 and 4 mly

(g0 1,2and Y only

idy 1% 3andd
BKL-S-HJU

a7

Passage - 6

Indis hee banking cormespondents, who help
bring people in the hinterlond into the banking
fold. Far them to sucoped, banks earmot enmp on
custy, They also canmot, afford to ignore investiog
i fnancinl education wnd llerscey. Bankong
correapondents are way too small e bo viewsd as
a sywtemic ritk. Yet India's bunking regulator
han restricted them to ssrving only one bank
perhaps to prevent arbirroge. Eforts at banking
otrench may micssed only if there arn better
{noontives al work for such lnst-mile workers and
alpo thos providers who onsure not Just bivde
bank socuunts but also products such ss accdent
aeud 1ifh Insuranes snd micro pension aohemis.

Which one of the following is the most
logieal, rutionel oad crucial inference
that can bo deriyved from the abave passage

(n} Efforta to bring pesplo in  Indip's
hintorland into the honking. system are
not suceessfal,

by  For meaningful finanaal incluston,
Inddin's banking syetemn needs more
numbser of banking oomespondonts und
other such lnt-mile woyrkers.

(6  Meuningiul Ganneial melusion in India
requires thal banking corroaponduents
have diverae shills.

(dl Betler banking outresch would be
imposaible  unless  each  bankmg
eorreapondent i allowed to seTvE R
mamiber of ks

(29-A)
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Whut s X in the ssquencs

382, 129, 124,117, 106, 93, X ?
o) 74

(k) 75

ey TH

oy

A wall elock moves 10 minutes fast in evory
24 hours, The clock wis sob right to show the
correct time at H:00 am, on Moodsy, When
the oock whows the time 600 p, on
Wodnesdny, what is the correct time

{g) 580 pm
{by.  E30 pm.
e} B4 pm.
(d) 518 pam.

i the sumerator nnd denominator of o propar
fraction are locressed by the ssme positive
quantity which is grater than a=m, the
resulting froction is

o) always lesi thon the ofigmal fraction
by  always greater thon the origioal frection
ied  always equal to the veiginal fraction

id) wuch that nothing ean be cloimed
definitely

What is X in tho sequonocs

4. 196, 16, 144, 36, 100, 64. X7
inl 4B

thl B4

e} 125

(d) 256

(31-A)

52 Io o wroup of 16 peaple; 7 ean read French,

8 can read English while 3 of thom can rond
puithur of these two languages. The number of
patiple who can read exactly ono lnnguage is
tn) 10

by 9

el &

i)

53. A printer oumbers the puges of o book starling

with | nnd oses 3089 digits in all. How many
pigen does the book have ?

(a) 1040
ihi 1046
{cy 10489

tdi 1050

Congider the fallowing sequence thut follows
pornE nrrangement ;

¢_hecaa an_be_ b
The letters that appear in the geps are
(a) =bba
ib} chbh
(e} hbbh

id:  eece
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B5. A famnily how two childres aloag with thor

BKL-S-HJU

parensa. The average of the weights of the
children and their mother s 50 ky The
average of the woights of the childrea and
their father s 52 kg U the weight of the
{wthyer is 80 g, then whal i the weight of the
mmnthior 7

im) 4B kg
by 50 kg
fe) 62kg
@) Bakg

Suppose you have suffident amount of rupee
eurreney in three denominations : € L, ¥ 10
wod ¥ 50, In how many diffirent ways oun yoo
pay a hill of ® 107 7

(ml 18
b 17
(e} 18
d 19

‘A'ﬂ:qrtudhumhhhnuumﬂwuhdﬁ]m
towards Esat, whers hiz friend ‘B joined him.
They togethar wilked 10@® in the same
direetion. Then ‘A" turned left whils ‘B turted
right and travelled @ m and 8 m respectively.
Aguin ‘B’ turned loft to travel 4 m followed by
5m to hiv right to resch Ms affice; 'A’ turned
right ani! travelled 12 m to reach bis office.
What is the shortest distancs between the twn
officen T

im) 15m

ihh 17m

(el 19m:

fd} Z0m

(33-A]

B8. (onsider two statemunis 51 and 52 followed

by a guestinn -

51 : pand g both are prime sumbers,
B2 : e+ qizan odd integer.
Queetion [ pg nn odd integer?
Which one of the following w cormot 7

ie} $1 ulone is sufficient to answer the
uestinn

(hi 52 alone s mufficent to onswer the
question |

(¢) Both S1 and 32 taken together am mt
sufficinnt to pnewer the question

d} Both:S] and S§2 am necessary Lo ANFwEC
the guestion

Which year has the same calondar as thut of
2004

{a) 2018
b 2017
() 2018
idl 2015

Numbir 136 in sdded to 5B7 and the sum
obitained is TAS, whero A and B are integer.
It i given that TAS is oxuctly divisible by 3.
The only possible valoe of B is

(n)
k)
iel
(d:

- T -
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Which ooe of the [bllowing is the meosd
logical, rational and crucial inference
it ean be derived from the obove passage ?

fal A bebter regulatory syaiem will haelp
1odia inhuw the alze of sopomy

Directions for the following 7 {(sevon} ifetns 1 6l.

Read the following five pavmges and anser the
itema that follow each pussape. Your answere (o
these ifeomn should be based on the panmges only,

Passage - 1

India's ecomomic footprint, givem e
popalatinn, still remaine small compared to
the US, the European Unlon or Chins. It
has much to learn from other economica,
yei must mpleseul selulions that fit its
unigue cireumstances  India  especially
aoeds an effocove leng-torm  regulatory
systemn hased on collahoration sather than

ihi

(el

i)

appropriate 10 its population.

In o competitive global sconomy, Indis
muat wee regulations siretegcally
Hegulations in Indis do oot favour ite
imegration with  today’®  hyper
cotnpelitive global seotomy.

Job  eroation and oconamic growth
ahould e dominant considerations in

developing Indin's regulutory systen,

62 On the tnals of the whove passage, the
the current  top-down  appruach il ekl Sis bobel nle
Regulations meel desirnble suteomes yet

today's global 2
nre repestedly veed as politicel twals o L : g
push ane spendln or another. Often, 1. regulativns are oot effectively used 1o
regulations il to consider impacta on jobs protoct local murkels.
pnd economic growih — or less réstriclive 2. woeinl and envirenmental coneerms are
alternatives. Regulntions may be caed 1o generally igonored by the govemmonts
protect local markets st the expense of uerigs L world while implementing the
more widely shared prosperity in the reyqulations
e MY, pemiiations tuaviRlly Whick af the ahovi sasumptions bure valid 7
result I numsrous  pnintended
copmesguences. In toduy's hyper competitive (m) 1odaly
ghobal woonnmy, regulstrons newd (o be B Sonls
viewand an  “weapens”  that  sesk
comt-juatified social and  envirenmental fe) Bothland2
bunfits while lmproving the sesnamie b e T
wall-bairgg of moet citizems
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Passnge - 4

In o stody, scentints comparod the
mirrabdomes of poorly nourished and wull
nouvished infunte ond voong children, Gut
mitmbes were ivolatad from feedal samplos of
malpeuriahed sod  healthy éhildrén. The
milerobioms wes “immature” aod los diverse

64, Un the basis of the nbove pansige, the

following sssumptions have been made :

1 Proesssed problotiz foods are a salution
to ilreal the children suffering (rom
malnulrtion doe tn  lmmatore  gut
bacteria enmpoesition.

2 The hahins of molnourished methers
genarally tend to be molnourished.

in malnourished childreo compared 1o 1he Which ¢ the above rssumptions jsfare valid?
better developed “mature™ microblome found imd  lonly

in healthy chaldren of the same age. by Zonly

According to some sludies, the chemica) i¢} Beth | and 2

composition of mother's milk has showa the (d) Holther Ludr2

presence of a modified sogar  (sialylated
ollggsaocharides) This is not otilized by the P -3
baby for s own putribon. Hewever, the -

hacteria eomstituting the infunt’s microbipme Tewperatures have visen nearly five times
thrive on this sugar wihich serves ps their an rapidly on (he Western Antarctic Peminmmia
od. Malnourished mothers have liw lovels | than the global averago ovor the pust five
of thiz sugar in their milk Consequently, the decades, Researchors have now  found 'd'ui
microbiomes of their mfants fall to mature, molting glaciers e cousing o loks of mpecicn
That i1 tarn, lends to malnounshed habiea, diversity amany benthos in the constal waters off
the Antarctic Pealnsuln, impoeeting an entire
gseafloor moosystom. They beliove incrensed levels
&k, Wilih oue of the fllowing in tha meet| F™sPAnded sediment in water tybe the catisof

lagieal, rational and crucial inference the dwindling blodiversity in the coastal region.

g B
that can be derived from the shove passage §5. On the busie of the above possige, the

(s} IF malnourmhed condition in childron ls (ullowityy wespenplions huve been mode :
commid by got bacters, it oannid be i iomit of placery warm faster than
e athar regions dus to global warming.

nurished babiea should L
m} Eﬁ“i::d“;;:dm:];hmnm microblormes. 9. Clebal warming can lead to senfloor
wedimentation in some arean,

el Babies of malnowrished mothems should ‘
HTTE
be fod with dairy milk fertifiod with 3. Melting glaciors can ™ marine

n:?lmr'l ik Which 6f the abive assampioan infare valid?

(@) Research on benign effects of gut () ;ﬂf*ﬂ“ﬂ'
bhacterin  on motritton has  policy (bl Hanly

plications fe} Zand 3 only
" Wy L2and3d
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Passage -4

A readarch team examined & long-term owl
rooil. Dwls prey on small symnoals and the
exerebed  rvemalus of thope meals that
sccumuloted over the time, provids us an
insight inta the composition and structure of
small mummals over the past millonnin. The
researoh suggested that whon the Earth went
through o poried of rapid warming about
13,000 vears oago, the amall mammal
eoiumunity was sioble and resiliont, But
from the Just quarter of the ninsternth
contury,  homnn-made  changes ts  the
envirowment hid cousdd an engrmoua drop
in biomazs and cnergy flow, This dramatic
decline in energy Thrw  means  modern
ecosynleme are nof adapling us easiiy s thoy
didd fn the past.

88 On ithe bails of the shove pospage, the

following nesumprions have heen made :

L Global warming 8 ©n fsguently
GLCArTIng ns_mrnl phenomenon

2 The impending global warming will not
ndvereely affoct small mammnls.

d Hucoaos ame responsible for the logs of
the Farth's natursl resilences.

Which of the shove assumptions fsfare valal T

fn} 1 mnd2 only

iby i only

(o} 2 and 8 only

d} 1 2and3
BHL-S-HJU

BT,

_ Pammage - &

Food wariction extinetion is happening all
over the worll —and it t& Wappening fast. For
example, of the '?.'lﬂ'l'aﬁlhmu!ﬂulhntm
growen during the ninotesnth contury, fewor than
o hundred remain: In the Philippines, thousands
of varietles of rive once thrived; now enly up to 8
hundred wen grown (hore, ln China, 80 percent of
the wheat varietdes eultivated fust o contary ago
have  digappeared.  Farmers in the  past
puinstakingly bred and developsd cropy well
suited to the peculiaritien of their loeal climate
ond environment. In the resent pest, our hoavy
dependomes on & fow high yieldng varizties and
technalpgy-driven production snd distribiition of
food 33 causing the dwmdling of drversty m food
crops. IF some muisting crop disease or futore
ehimuite change dicimales the fow crop plants we
huve cimwe (o depend oo to feed ﬂlﬂ-'.l:l'!'rn“ll_il ’
papulation, we rn‘:gi'lt desporately noed aomo of
those varwhies we hove let poextinel. -~

O the badis of the dbove pessars (hi

following axsmnphions hinve besn maorde

1 Hummme have besn the maln resson for
the Jarge acale extmchon of plant
BPCCILE.

L Coanmmmption of fmod mainly from locally
cultivated crops ensures crop diversity.

& The present atyle of productiom o

distribmiion of food will finally lsad 1
the problem of food acarcity in the newr
futore.

4 Our food security may depend on oor
abilliy to preserve Lhe locally euliivated

varisties of crope.
Which of the alwove ssemnunptions are valid ?
n) land3
b Zand4
e} 2amd3
) % oand 4
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68. If every olternstive latter of the Fnglish
alphabet from B onwends {j;l-l.'l'l_-ﬂlﬂ-j ‘H) is
writien in lewer case (wmall [etburs) und the
remaining letters are aupitalised, then how (s
the first month of the second half of the yoir
'lrnt-t-ﬁﬂ T
n)  JJuly
(b} JULy
(ed jHly
) JUTY

89,  Sunita cuts a sheet of paper into thrve pisces,
Langth of first piece s equal to the average of
the three single digit odd prime numbers,
Longth of the wecend pisce is squal to that of
thu first plus one-third the length of the third,
The thind plece in an long as the other two
pivves togethor, Tho longth of the origingl
shieot of pupar (s
ol 13 unita
by 16 unlis
fed 16 nnits
dd 30 ynlte

70. In the woquence 1, 5, 7, 8, 6, 7, 4. 3, 5, 7. hiw
many such 56 are there which are not
immeelintitly  precedod by 3 bul =
mmmedintisly follovod by 7 7
ol 1
(bl 2
) -3
W) Nove

BKL-S-HJU _
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A joind family songists of sover membera A, B,
C, 1, E, F and G with theos femsles G o g
witdow and sister-in-luw of I father F. B and
D nre siblings and A iz davghter of B, O in
cotmin of B, Who s E 7

L Wiksoarm
- Grandmetlior of &
3 Mt af

Selest the correct anewer naing the oude given
brechirw

{a} 1and 2anly
(bl 2 and 3 only
el 1 and 3 only
(dy 1,Z2andd

Fach face of & cube can be paioted in black cr
white volours. ln how many diferent ways enn
i enbie be palinted

ind &

by 10
ieh 11
dy 12

How many triplets (%, ¥, =i satinfy the

oyustion x + ¥ + 2 = i, where x, ¥ and 2 arw
natural nombesa 7

T |
My 6
e} 9
10
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T4 66 mesna ‘divided by’ @ méins ‘multighed

7.

Hﬂmuuwlmt,dtmkurﬂ will bus

by # meane ‘mines’, (hen the talue of s} Soennd
. e5is ih}  Third
fwd 0 ici Tourth
i1 td]  Bneond or third
) 2
. IfE is ranked third, then which oon of Lhe
d) % following ls vorreet ?
{a) T pets more marks than ©
T8, An  Bdigit  mumd ADB2TAGE  leaves (b} © gets more marks than E
remainder 0 when divided by 3. How many (el Ay ranked fourth
values of B are posaiblo ? ud} D izranksd fifth
(a) 2
b 9 Directions for the following 2 (lwo) items ;
: s Reaid the follusing stotements S and 52 and
c) anarer e foo starns that follow :
(dr 6 81 Twice the weight of Sohan is less than

Directions for the following ¥ (threo) itema ;
Read the following information and ansiers
three ifema that follow

Six students A B, C, D, E and F uppoarad in
siveral tests Either O or F seures the highest
Whasnever © weores the highest, than E soores the
least. Whensver I scores the higheet, B scores

the least

In all the tests they got different marky:
[ scores highor than A, but they nre elope
cemmpetitors;. A scorms higher than B: C séoros

blgher than A,

T6. I ¥ swands wecand in the ranking, thei
pomition of B m '
(a) Third
ib) Fourth
el Fifth
id} Sixth

BHL-5-H.JU
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the weight of Mebkan or that of Hohan,
Twiee the weight of Rohan o greéater
than the weight of Mohan or that of
Holan.

82:

Which ¢ne of the following statemonts s
corret ¥

ta!  Weight of Mohan is greatest

(b} Weight of Sohan in greatant

{e)  Weight of Rohan is greatest

(d}  “Whose weipht is greatess’ eannot be
detzrminnd

Which oua of the following stetements i
carmedt T

@) Welght of Mohan is least
M Welght of Soluimn v least
ol Waight of Roban i |east

iy "Whass welght s lesst” coppol be-
determinead
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